Vest WTP to Franklin WTP Force Main and Lee S Dukes HDPE Pipeline

				Sanders U	tility Co	nstruction		Fuller & Co. C	onstr	uction	_	Chandler Co	onst	ruction	R	H Price	<u> </u>		Ruby-	Collin	s
Bid Item	Description	Quantity	Unit	Unit Price		Bid Price		Unit Price		Bid Price		Unit Price		Bid Price	Unit Price		Bid Price		Unit Price	В	Bid Price
1.1	FOR MOBILIZATION TO THE PROJECT SITE, AS SPECIFIED (THIS ITEM IS LIMITED TO 3% OF THE TOTAL OF ALL UNIT PRICE BID ITEMS FOR VEST WTP TO FRANKLIN WTP FORCE MAIN)	1	LS	\$208,000.00	\$	208,000.00	Ç	251,965.00	\$	251,965.00		\$ 322,000.00	\$	322,000.00	\$300,000.00	\$	300,000.00	:	\$325,000.00	\$	325,000.00
1.0	RESTRAINED JOINT DUCTILE IRON PIPE, AS SPECIFIED,																				
1.2	COMPLETE IN PLACE																				
Α	16-INCH DUCTILE IRON PIPE (PRESSURE CLASS 250)	10,930	LF	\$106.00	\$	1,158,580.00	Ş	157.00	\$	1,716,010.00		\$ 241.00	\$	2,634,130.00	\$240.00	\$	2,623,200.00		\$290.00	\$:	3,169,700.00
	FOR ADDING DECEDAINED JOINT (MECALLIC OR	1	1		1	1						<u> </u>				1					
1.3	FOR ADDING RESTRAINED JOINT (MEGALUG OR APPROVED EQUAL) TO DUCTILE IRON PIPE, AS SPECIFIED, COMPLETE IN PLACE	25	EA	\$827.00	\$	20,675.00	Ş	479.00	\$	11,975.00		\$ 918.00	\$	22,950.00	\$1,700.00	\$	42,500.00		\$575.00	\$	14,375.00
						1	Г		_							T					
1.4	FOR INSTALLING 16-INCH DUCTILE IRON PIPE (PRESSURE CLASS 250), WITH PUSH ON (NON-RESTRAINED) JOINTS, AS SPECIFIED, COMPLETE IN PLACE	5,260	LF	\$105.00	\$	552,300.00	Ş	3 131.00	\$	689,060.00	:	\$ 268.00	\$	1,409,680.00	\$220.00	\$	1,157,200.00		\$290.00	\$:	1,525,400.00
							_		\equiv		_										
1.5	FOR FURNISHING AND INSTALLING PUSH-ON (NON-RESTRAINED) JOINT PIPE, AS SPECIFIED, COMPLETE IN PLACE																				
	FOR FURNISHING AND INSTALLING 6-INCH POLYVINYL CHLORIDE PIPE C900 DR 18, WITH PUSH-ON (NON-	640	LF	\$76.00	Ś	48,640.00	Ġ	5 76.00	Ś	48,640.00		\$ 183.00	Ś	117,120.00	\$100.00	Ś	64,000.00		\$85.00	\$	54,400.00
	RESTRAINED) JOINTS, AS SPECIFIED, COMPLETE IN PLACE	0.10		φ/0.00		10,010.00	Ľ	70.00	Ĺ	10,010.00	Ĺ	y 100.00	Υ	117,120.00	V100.00		0 1,000.00		403.00	Ÿ	3 1, 100.00
	FOR FURNISHING AND INSTALLING 6-INCH DUCTILE IRON			400.00		2 - 2 2 2 2			1						4440.00				4 00		
	PIPE (PRESSURE CLASS 350) WITH PUSH-ON (NON-RESTRAINED) JOINTS, AS SPECIFIED, COMPLETE IN PLACE	36	LF	\$98.00	\$	3,528.00	۶	144.00	\$	5,184.00		\$ 163.00	\$	5,868.00	\$110.00	\$	3,960.00		\$175.00	\$	6,300.00
	FOR FURNISHING AND INSTALLING 16-INCH POLYVINYL																				
C	CHLORIDE PIPE C900 DR 18, WITH PUSH-ON (NON-RESTRAINED) JOINTS, AS SPECIFIED, COMPLETE IN PLACE	20	LF	\$169.00	\$	3,380.00	\$	1,008.00	\$	20,160.00	:	\$ 213.00	\$	4,260.00	\$460.00	\$	9,200.00		\$985.00	\$	19,700.00
	FOR FURNISHING AND INSTALLING 16-INCH DUCTILE																				
	IRON PIPE (PRESSURE CLASS 250) WITH PUSH-ON (NON-RESTRAINED) JOINTS, AS SPECIFIED, COMPLETE IN PLACE	300	LF	\$173.00	\$	51,900.00	Ş	191.00	\$	57,300.00		\$ 340.00	\$	102,000.00	\$310.00	\$	93,000.00		\$265.00	\$	79,500.00
L							L				<u></u>										
1.6	FOR INSTALLING DIP FITTINGS AS SPECIFIED, COMPLETE IN PLACE																				
А	90 DEGREE FITTING	5	EA	\$780.00	\$	3,900.00	Ş	415.00		2,075.00				4,420.00	\$840.00	\$	4,200.00		\$1,750.00	\$	8,750.00
В	45 DEGREE FITTING	47	EA	\$780.00	\$	36,660.00	Ş	415.00		19,505.00				41,548.00	\$840.00	\$	39,480.00		\$1,750.00	\$	82,250.00
C	22.5 DEGREE FITTING	21	EA	\$780.00	\$	16,380.00	Ş	415.00		8,715.00	Ŀ			18,564.00	\$840.00	\$	17,640.00		\$1,750.00	\$	36,750.00
	11.25 DEGREE FITTING	22	EA	\$780.00	\$	17,160.00	Ş	415.00		9,130.00	L	\$ 884.00		19,448.00	\$840.00	\$	18,480.00		\$1,750.00	\$	38,500.00
E	16X16 TEE	1	EA	\$1,300.00	\$	1,300.00	5	830.00		830.00	_	\$ 1,474.00		1,474.00	\$1,260.00	\$	1,260.00	<u> </u>	\$3,500.00	\$	3,500.00
F	16X6 TEE	3	EA	\$1,000.00	\$	3,000.00	5	705.00	<u>\$</u>	2,115.00	H	\$ 1,105.00	\$	3,315.00	\$1,260.00	\$	3,780.00	\vdash	\$3,500.00	\$	10,500.00
1.7	FOR FURNISHING AND INSTALLING DIP FITTINGS AS SPECIFIED, COMPLETE IN PLACE	5,000	LBS	\$6.00	\$	30,000.00	Ş	3 13.00	\$	65,000.00		\$ 18.00	\$	90,000.00	\$6.00	\$	30,000.00		\$13.25	\$	66,250.00
1.8	FOR FURNISHING AND INSTALLING (DRY-BORE) STEEL																				
	ENCASEMENT, AS SPECIFIED, COMPLETE IN PLACE																				

I A I	TER CASING (t=0.500") ACROSS NCDOT I-	330	LF	\$1,900.00	\$	627,000.00	\$	3,452.00 \$	1,139,160.00	\$	4,415.00 \$	1,456,950.00	\$5,450.00	\$	1,798,500.00	\$5,000.00	\$	1,650,000.00
I IBI	TER CASING (t=0.750") ACROSS CSX	117	LF	\$2,000.00	\$	234,000.00	\$	3,080.00 \$	360,360.00	\$	6,860.00 \$		\$6,500.00	\$	760,500.00	\$6,500.00	\$	760,500.00
RAILROAD 30-INCH DIAME	TER CASING (t=0.500") ACROSS BOX	25						2 226 00 6		<u> </u>	5 220 00 ¢							
CULVERT		25	LF	\$4,600.00	\$	115,000.00	\$	2,226.00 \$	55,650.00	\$	5,328.00 \$	133,200.00	\$8,300.00	\$	207,500.00	\$8,500.00	\$	212,500.00
	G 16-INCH RJDIP AND FURNISHING AND ACING ACROSS STEWARTS CREEK, AS	194	LF	\$430.00	\$	83,420.00	\$	322.00 \$	62,468.00	\$	460.00 \$	89,240.00	\$490.00	\$	95,060.00	\$1,000.00	\$	194,000.00
1.10 FOR CROSSING	STREAMS, AS SPECIFIED ON PLANS																	
A TEMPORARY ST		2	EA	\$14,000.00	\$	28,000.00	\$	19,697.00 \$	39,394.00	\$	25,511.00 \$	51,022.00	\$30,000.00	\$	60,000.00	\$15,000.00	\$	30,000.00
B PERMANENT S	REAM CROSSING	1	EA	\$48,000.00	\$	48,000.00	\$	42,101.00 \$	42,101.00	\$	70,752.00 \$	70,752.00	\$65,000.00	\$	65,000.00	\$55,000.00	\$	55,000.00
11.11	MENT OF EXISTING WATER MAINS, AS LANS AND AS DIRECTED BY THE ENGINEER																	
Δ	GROUT, AND PLUG (WATERTIGHT) H WATER MAIN	640	LF	\$6.00	\$	3,840.00	\$	8.00 \$	5,120.00	\$	7.00 \$	4,480.00	\$25.00	\$	16,000.00	\$20.00	\$	12,800.00
B CUT, REMOVE, MAIN	AND DISPOSE EXISTING 1-INCH WATER	315	LF	\$21.00	\$	6,615.00	\$	10.00 \$	3,150.00	\$	9.00 \$	2,835.00	\$25.00	\$	7,875.00	\$20.00	\$	6,300.00
L FOR COMMECT																		
1.12 MAINS, AS SPECTHE ENGINEER	ON OF PROPOSED MAINS TO EXISTING CIFIED ON PLANS AND AS DIRECTED BY																	
	TO 14-INCH MAIN	1	EA	\$11,517.00	\$	11,517.00	\$	8,281.00 \$	8,281.00	\$	11,419.00 \$		\$19,000.00	\$	19,000.00	\$15,000.00	\$	15,000.00
B 6-INCH MAIN T	O 6-INCH MAIN	2	EA	\$3,887.00	\$	7,774.00	\$	5,859.00 \$	11,718.00	\$	12,050.00 \$	24,100.00	\$9,000.00	\$	18,000.00	\$15,000.00	\$	30,000.00
11.13	G AND INSTALLING MAIN LINE GATE CIFIED, COMPLETE IN PLACE																	
A 6-INCH GATE V	ALVES	3	EA	\$3,228.00	\$	9,684.00	\$	1,947.00 \$	5,841.00	\$	2,784.00 \$	8,352.00	\$2,700.00	\$	8,100.00	\$2,500.00	\$	7,500.00
1.14 FOR INSTALLING COMPLETE IN F	G MAIN LINE PLUG VALVES, AS SPECIFIED, LACE																	
A 16-INCH PLUG	/ALVES	4	EA	\$2,396.00	\$	9,584.00	\$	1,643.00 \$	6,572.00	\$	3,185.00 \$	12,740.00	\$3,100.00	\$	12,400.00	\$5,000.00	\$	20,000.00
	G AND INSTALLING AIR RELEASE VALVES ND AS DIRECTED BY THE ENGINEER, LACE																	
I IAI	E - 3" COMBINATION AIR RELEASE AND	10	EA	\$25,800.00	\$	258,000.00	\$	25,673.00 \$	256,730.00	\$	21,681.00 \$	216,810.00	\$30,000.00	\$	300,000.00	\$35,000.00	\$	350,000.00
B MANUAL ARV (ES DN 16-INCH PIPE - 3" AIR RELEASE	2	EA	\$8,600.00	\$	17,200.00	\$	8,016.00 \$	16,032.00	\$	9,521.00 \$		\$12,000.00	\$	24,000.00	\$25,000.00	\$	50,000.00
		1		. ,		,		,	,		, .	·	. ,		<i>,</i>	. ,		· · · · · · · · · · · · · · · · · · ·
1.16 EXPLORATORY A BOTH SIDES OF	DIGGING, AS SPECIFIED	100	ΕΛ	\$700.00	ć	70,000,00	خ	209.00 \$	20,900.00	<u> </u>	311.00 \$	31,100.00	\$700.00	4	70,000,00	\$165.00	-	16 500 00
	METER BOX ONLY	50	EA EA	\$700.00 \$350.00	\$	70,000.00 17,500.00	\$	128.00 \$	6,400.00	\$	311.00 \$		\$350.00	\$	70,000.00 17,500.00	\$90.00	\$	16,500.00 4,500.00
IS IT OBLIC SIDE OF			<u> </u>		- · ·		<u> </u>	220.00	5, 100.00	<u> </u>	311.00 7	13,550.00	+ + + + + + + + + + + + + + + + + + + 	<u> </u>	27,550.00	\$30.00	<u> </u>	1,500.00
	G AND INSTALLING WATER SERVICES, AS PER TUBING (TYPE K) - OPEN CUT PLETE IN PLACE																	
A 3/4-INCH TUBII	IG - SAME SIDE OF STREET (SHORT SIDE)	55	EA	\$1,370.00	\$	75,350.00	\$	1,959.00 \$	107,745.00	\$	1,431.00 \$	78,705.00	\$2,700.00	\$	148,500.00	\$1,250.00	\$	68,750.00
B 1-INCH TUBING	- SAME SIDE OF STREET (SHORT SIDE)	5	EA	\$1,800.00	\$	9,000.00	\$	2,421.00 \$	12,105.00	\$	1,995.00 \$	9,975.00	\$3,050.00	\$	15,250.00	\$1,535.00	\$	7,675.00
C 3/4-INCH TUBII SIDE)	NG - OPPOSITE SIDE OF STREET (LONG	45	EA	\$1,886.00	\$	84,870.00	\$	2,882.00 \$	129,690.00	\$	3,460.00 \$	155,700.00	\$3,850.00	\$	173,250.00	\$2,350.00	\$	105,750.00

D 1-INCH TUBING - OPPOSITE SIDE OF STREET (LONG SIDE)	5	EA	\$2,390.00	\$	11,950.00	\$	4,196.00 \$	20,980.00		\$ 4,100.00	\$ 20,500.00	\$4,250.00	\$	21,250.00	\$2,685.00	\$	13,425.00
FOR CHANGEOVER OF EXISTING WATER SERVICES FROM ABANDONED/REMOVED WATER MAINS TO 6-INCH MAIN. 1.18 FURNISHING AND INSTALLING WATER SERVICES, AS SPECIFIED, COPPER TUBING (TYPE K) - OPEN CUT METHOD, COMPLETE IN PLACE																	
A 3/4-INCH TUBING - SAME SIDE OF STREET (SHORT SIDE)	5	EA	\$1,730.00	\$	8,650.00	\$	1,403.00 \$	7,015.00		\$ 1,431.00	\$ 7,155.00	\$2,700.00	\$	13,500.00	\$1,200.00	\$	6,000.00
B 3/4-INCH TUBING - OPPOSITE SIDE OF STREET (LONG SIDE)	6	EA	\$2,240.00	\$	13,440.00	\$	1,603.00 \$	9,618.00		3,460.00	\$ 20,760.00	\$3,850.00	\$	23,100.00	\$1,750.00	\$	10,500.00
FOR BASIC MANHOLES, 0-6 FOOT DEPTHS, AS SPECIFIED, BACKFILLED COMPLETE IN PLACE, WITH GROUTED ON FRAME AND COVER	4		47.200.00		20.450.00		5 752 00 6	22.000.00		444700	A 57.650.00	67,000,00		20,000,00	\$15,000,00	<u> </u>	60,000,00
A FOR 4-FOOT DIAMETER MANHOLES B FOR ADDITIONAL VERTICAL FOOT OF MANHOLE DEPTH	15	EA VF	\$7,290.00 \$316.00	\$	29,160.00 4,740.00	\$	5,752.00 \$ 240.00 \$	23,008.00 3,600.00	7 6	14,417.00		\$7,000.00 \$370.00	\$	28,000.00 5,550.00	\$15,000.00 \$1,500.00	\$	60,000.00 22,500.00
	13	1	φ310.00	<u> </u>	1,7 10.00	Ψ	2 10.00	3,000.00		1,173.00	17,023.00	\$370.00	,	3,330.00	\$1,300.00		22,300.00
1.20 FOR CONNECTIONS AT MANHOLES, AS SPECIFIED, COMPLETE IN PLACE																	
A FOR FITTINGS ADDED TO EXISTING MANHOLE FOR DROP MANHOLE	2	EA	\$14,500.00	\$	29,000.00	\$	11,185.00 \$	22,370.00) [17,711.00	\$ 35,422.00	\$5,800.00	\$	11,600.00	\$20,000.00	\$	40,000.00
B CONNECT TO EXISTING MANHOLES WITH 6-INCH PIPE	2	EA	\$3,985.00	\$	7,970.00	\$	1,452.00 \$	2,904.00		13,065.00	\$ 26,130.00	\$4,000.00	\$	8,000.00	\$15,000.00	\$	30,000.00
FOR THE REMOVAL AND RESETTING (OR REPLACEMENT) OF FENCES OR GATES, AS SPECIFIED, IN PLACE																	
FOR THE REMOVAL, STORAGE, AND RESETTING OF A PERMANENT FENCE	100	LF	\$117.00	\$	11,700.00	\$	21.00 \$	2,100.00) :	\$ 120.00	\$ 12,000.00	\$250.00	\$	25,000.00	\$185.00	\$	18,500.00
B FOR THE FURNISHING AND INSTALLATION OF A PERMANENT GATE	2	EA	\$4,000.00	\$	8,000.00	\$	2,178.00 \$	4,356.00		\$ 1,246.00	\$ 2,492.00	\$6,000.00	\$	12,000.00	\$6,500.00	\$	13,000.00
1.22 ASPHALT CUTTING AND REPLACEMENT, FULL SECTION WITHIN	6,570	SY	\$305.00	\$	2,003,850.00	\$	136.00 \$	893,520.00) :	\$ 155.00	\$ 1,018,350.00	\$160.00	\$	1,051,200.00	\$140.00	\$	919,800.00
1.23 CONCRETE CURB AND GUTTER REMOVAL AND REPLACEMENT	610	LF	\$58.00	\$	35,380.00	\$	108.00 \$	65,880.00)	\$ 104.00	\$ 63,440.00	\$180.00	\$	109,800.00	\$65.00	\$	39,650.00
1.24 FOR CONSTRUCTING, MAINTAINING, AND REMOVING VARIOUS EROSION CONTROL DEVICES, AS SPECIFIED																	
A TEMPORARY CONSTRUCTION ENTRANCE B SILT FENCE	7 9,875	EA LF	\$2,000.00 \$3.75	\$ \$	14,000.00 37,031.25	\$	3,103.00 \$ 3.00 \$	21,721.00 29,625.00		,		\$10,000.00 \$3.50	\$ \$	70,000.00 34,562.50	\$1,650.00 \$4.80	\$	11,550.00 47,400.00
C STONE SILT CHECK DAM OR WATTLE	5	EA	\$475.00	\$	2,375.00	\$	470.00 \$	2,350.00				\$100.00	\$	500.00	\$725.00	\$	3,625.00
D TEMPORARY INLET PROTECTION	60	EA	\$261.00	\$	15,660.00	\$	275.00 \$	16,500.00) :	\$ 187.00	\$ 11,220.00	\$200.00	\$	12,000.00	\$225.00	\$	13,500.00
FOR CLEANUP, SEEDING, AND SODDING AREAS, AS SHOWN ON THE PLANS, OR AS DIRECTED BY THE ENGINEER, COMPLETE AS SPECIFIED, (THIS ITEM MUST BE AT LEAST 1% OF THE Total of All Unit Price Bid Items for Vest WTP to Franklin WTP Force Main)																	

A FOR CLEANUP, FERTILIZIN SPECIFIED, COMPLETE IN	IG, SEEDING AND MULCHING, AS PLACE	16,300	LF	\$13.00	\$	211,900.00	\$	8.00	130,400.00	\$	0.90	\$ 14,670.00	\$9.00	\$	146,700.00	\$3.90	\$	63,570.00
1.26 CLEARING AND GRUBBIN EASEMENTS WITHIN WO	G RIGHT-OF-WAY AND/OR ODED AREAS	1	AC	\$66,577.00	\$	66,577.00	\$	213,555.00	\$ 213,555.00	\$	18,697.00	\$ 18,697.00	\$25,000.00	\$	25,000.00	\$20,000.00	\$	20,000.00
1.27 FOR SOLID ROCK EXCAVA	TION AS SPECIFIED									1 🗆								
			_							1				١.		1	١.	
A FOR THE FIRST 100 CY RC	CK EXCAVATION PER PROJECT	100	CY	\$50.00	\$	5,000.00	\$	44.00	\$ 4,400.00	\$	436.00	\$ 43,600.00	\$100.00	\$	10,000.00	\$225.00	\$	22,500.00
B FOR ADDITIONAL ROCK E 100 CY PER PROJECT	XCAVATION AFTER THE INITIAL	20	CY	\$45.00	\$	900.00	\$	76.00	\$ 1,520.00	\$	436.00	\$ 8,720.00	\$100.00	\$	2,000.00	\$225.00	\$	4,500.00
1.28 FOR STONE STABILIZATIO MATERIAL AS SPECIFIED,		5	TN	\$100.00	\$	500.00	\$	118.00	5 590.00	\$	73.00	\$ 365.00	\$200.00	\$	1,000.00	\$75.00	\$	375.00
11 79	STALLING TAPPING SLEEVE AND PECIFIED, COMPLETE IN PLACE																	
A 6" X 6"		1	EA	\$6,450.00	\$	6,450.00	\$	6,427.00	\$ 6,427.00	\$	17,960.00	\$ 17,960.00	\$8,500.00	\$	8,500.00	\$10,000.00	\$	10,000.00
THE ENGINEER	SPECIFIED AND DIRECTED BY			40,000,00		400000	4	10.155.00					440.000.00			4440.00	4	10.000.00
A CATHODIC PROTECTION	L BONDING OF JOINTS AND	24	EA	\$8,000.00	Ş	192,000.00	\$	10,466.00	251,184.00	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	11,223.00	\$ 269,352.00	\$12,000.00	Ş	288,000.00	\$550.00	Ş	13,200.00
B FITTINGS	AL BONDING OF JOIN 13 AND	1	LS	\$100,000.00	\$	100,000.00	\$	1,133,396.00	1,133,396.00	\$	424,331.00	\$ 424,331.00	\$450,000.00	\$	450,000.00	\$150,000.00	\$	150,000.00
C COMMISSIONING AND IN	STALLATION TESTS	1	LS	\$63,000.00	\$	63,000.00	\$	92,146.00	92,146.00	\$	158,693.00	\$ 158,693.00	\$110,000.00	\$	110,000.00	\$85,000.00	\$	85,000.00
1.31 OWNER PRIOR TO CONST	SHING AND PROVIDING TO THE RUCTION AS SPECIFIED BY																	
A 24-INCH BELL JOINT CLAN		6	EA	\$2,808.00	\$	16,848.00	\$	2,006.00	12,036.00	\$	1,263.00	\$ 7,578.00	\$2,500.00	\$	15,000.00	\$4,350.00	\$	26,100.00
B 24-INCH MECHANICAL JO TRANSITION SLEEVES (DI		2	EA	\$1,324.00	\$	2,648.00	\$	5,634.00	11,268.00	\$	5,256.00	\$ 10,512.00	\$1,200.00	\$	2,400.00	\$4,730.00	\$	9,460.00
C 24-INCH MEGALUG WITH	•	4	EA	\$686.00	\$	2,744.00	\$	2,962.00	11,848.00	\$	1,536.00	\$ 6,144.00	\$700.00	\$	2,800.00	\$4,500.00	\$	18,000.00
D 30-INCH BELL JOINT CLAN		6	EA	\$3,416.00	\$	20,496.00	\$	2,931.00	17,586.00	\$	2,228.00	\$ 13,368.00	\$3,000.00	\$	18,000.00	\$6,185.00	\$	37,110.00
E 30-INCH MECHANICAL JO TRANSITION SLEEVES (DI		2	EA	\$2,701.00	\$	5,402.00	\$	6,841.00	13,682.00	\$	6,699.00	\$ 13,398.00	\$2,400.00	\$	4,800.00	\$15,000.00	\$	30,000.00
F 30-INCH MEGALUG WITH		4	EA	\$1,514.00	Ś	6,056.00	Ś	10,976.00	\$ 43,904.00	Ś	3,223.00	\$ 12,892.00	\$1,400.00	Ś	5,600.00	\$2,000.00	Ś	8,000.00
G 36-INCH LONG PATTERN		12	EA	\$10,414.00	\$	124,968.00	\$	22,924.00	275,088.00	\$	28,058.00	\$ 336,696.00	\$24,000.00	\$	288,000.00	\$16,500.00	\$	198,000.00
H 36-INCH MEGALUG		24	EA	\$1,932.00	\$	46,368.00	\$	2,200.00		\$	2,448.00		\$1,800.00	\$	43,200.00	\$2,530.00	\$	60,720.00
Total of All Unit Price Bid Items for Scope 1 - Vest WTP to Franklin WT				\$	6	,976,520.25	\$		8,594,458.00	\$		10,777,662.00	\$	11,	,071,397.50	\$	11,	,043,635.00
				Sanders Ut	tility Cons	struction		Fuller & Co. Co	nstruction		Chandler C	onstruction	RI	H Price		Ruby	-Collin	s
Bid Item Do	escription	Quantity	Unit	Unit Price		Bid Price		Unit Price	Bid Price		Unit Price	Bid Price	Unit Price		id Price	Unit Price		Bid Price

Bid Item		Description	Quantity	Unit
2.1		FOR REMOVING EXISTING CHEMICAL FEED LINES		
	Α	1-1/2-INCH HDPE PIPE INSIDE 8-INCH CASING	2,000	LF
	В	1-1/2-INCH HDPE PIPE INSIDE 12-INCH CASING	4,000	LF
	С	3-INCH / 4-INCH HDPE PIPE INSIDE 8-INCH CASING	6,000	LF
	D	8-INCH PVC PIPE (MH NO 1 TO WTP BUILDING)	185	LF
	Ε	1-1/2-INCH HDPE PIPE AT INTAKE TOWER AND INSIDE WTP BUILDING	400	LF
	F	3-INCH / 4-INCH HDPE PIPE AT INTAKE TOWER AND INSIDE WTP BUILDING	400	LF

	- /		_	
Unit Price		Bid Price		Unit
\$3.00	\$	6,000.00		\$
\$3.00	\$	12,000.00		\$
\$5.00	\$	30,000.00		\$
\$20.00	\$	3,700.00		\$
\$11.00	\$	4,400.00		\$
\$11.00	\$	4,400.00		\$

	Unit Price	Bid Price
\$	9.00	\$ 18,000.00
\$	8.00	\$ 32,000.00
\$	11.00	\$ 66,000.00
\$	31.00	\$ 5,735.00
\$	22.00	\$ 8,800.00
\$	22.00	\$ 8,800.00

Chandler C	ons	truction
Unit Price		Bid Price
\$ 10.75	\$	21,500.00
\$ 10.20	\$	40,800.00
\$ 10.20	\$	61,200.00
\$ 47.00	\$	8,695.00
\$ 27.00	\$	10,800.00
\$ 27.00	\$	10,800.00
\$ \$ \$	\$ 10.75 \$ 10.20 \$ 10.20 \$ 47.00 \$ 27.00	\$ 10.75 \$ \$ 10.20 \$ \$ 10.20 \$ \$ 47.00 \$ \$ 27.00 \$

IXII	FIIC	
Unit Price		Bid Price
\$13.00	\$	26,000.00
\$13.00	\$	52,000.00
\$18.00	\$	108,000.00
\$40.00	\$	7,400.00
\$55.00	\$	22,000.00
\$55.00	\$	22,000.00

Unit Price	Bid Price
\$15.00	\$ 30,000.00
\$15.00	\$ 60,000.00
\$15.00	\$ 90,000.00
\$175.00	\$ 32,375.00
\$20.00	\$ 8,000.00
\$20.00	\$ 8,000.00

	1	FOR FURNISHING AND INSTALLING 3" CPVC x 6" PVC		
2.2		DOUBLE CONTAINMENT PIPE AND FITTINGS, AS		
2.2		SPECIFIED, COMPLETE IN PLACE		
	Δ	3" CPVC X 6" PVC	6,000	LF
		SHIELDING FOR EXPOSED SECTIONS (INTAKE TOWER)	100	LF
	С	CONTINUOUS CABLING FOR LEAK DETECTION	6,000	LF
	+-	TESTING AND COMMISSIONING	1	LS
	1	FOR FURNISHING AND INSTALLING MANHOLES (6-FOOT		
2.3		DEPTH)		
	Α	4-FOOT DIAMETER MANHOLE	1	EA
	В	8-FOOT DIAMETER MANHOLE	2	EA
2.4		FOR FURNISHING AND INSTALLING 8' DIAMETER MANHOLES - EXTRA DEPTH	22	VF
2.5		FOR FURNISHING AND INSTALLING 8-INCH PVC CASING PIPING, AS SPECIFIED, COMPLETE IN PLACE.		
	Α	8-INCH PVC PIPE (OPERATIONS BUILDING TO MH NO 1)	100	LF
2.6		FOR FURNISHING AND INSTALLING 2-INCH HDPE RAW WATER SAMPLING PIPE AND FITTINGS INSIDE EXISTING CASINGS, AT WTP AND INTAKE TOWER, AS SPECIFIED, COMPLETE IN PLACE.		
	Α	2-INCH HDPE PIPE INSIDE EXISTING 12-INCH CASING (MH NO 1 TO MH NO 8)	3,900	LF
	В	2-INCH HDPE PIPE INSIDE EXISTING 12-INCH CASING (MH NO 1 TO MH NO 8)	3,900	LF
	С	2-INCH HDPE PIPE INSIDE EXISTING 8-INCH CASING (MH NO 8 TO MH NO 15)	2,000	LF
	D	2-INCH HDPE PIPE INSIDE EXISTING 8-INCH CASING (MH NO 8 TO MH NO 15)	2,000	LF
	Е	2-INCH HDPE PIPE AT INTAKE TOWER AND INSIDE WTP	500	LF
2.7		FOR FURNISHING AND INSTALLING STEEL ENCASEMENT PIPE, AS SPECIFIED, COMPLETE IN PLACE, WITHIN EXSITING TRANSCO AND PNG RIGHTS-OF-WAY, AND AT WTP		
	А	16-INCH STEEL ENCASEMENT PIPE WITHIN WILLIAMS TRANSCO ROW	125	LF
	В	16-INCH STEEL ENCASEMENT PIPE WITHIN PNG ROW	85	LF
	С	12-INCH STEEL ENCASEMENT PIPE (STA 58+75 TO STA 59+81)	110	LF
2.8		FOR FURNISHING AND INSTALLING 48" STEEL ENCASEMENT PIPE BY JACK AND BORE, AS SPECIFIED, COMPLETE IN PLACE WITHIN NCDOT ROW		
	Α	48" STEEL ENCASEMENT PIPE	190	LF
	В	BORE PIT 5' DEEP	2	EA
	С	BORE PIT ADDITIONAL DEPTH	30	VF
2.9		BORE PIT MOBILIZATION FOR UNSUCCESSFUL BORES, AS SPECIFIED	1	EA
2.10		GROUT INCOMPLETE CASING, AS SPECIFIED	1	EA
2.11		FOR FURNISHING SELECT BACKFILL, AS SPECIFIED, COMPLETE IN PLACE		
	Α	SELECT BACKFILL	200	CY

												ii.		
\$100.00	\$	600,000.00		\$	81.00	\$	486,000.00	\$	182.00	\$	1,092,000.00		\$265.00	\$
\$400.00	\$	40,000.00		\$	238.00	\$	23,800.00	\$	745.00	\$	74,500.00		\$570.00	\$
\$27.00	\$	162,000.00		\$	85.00	\$	510,000.00	\$	50.00	\$	300,000.00		\$49.00	\$
\$35,000.00	\$	35,000.00	-	\$	78,147.00	\$	78,147.00	\$	35,150.00	\$	35,150.00		\$112,500.00	\$
720/22000	T	33,233.33		<u> </u>	1 3/2 11 10 2	-		-	33,233.33	7	55,253.55		+ = = /	Ť
\$5,000.00	\$	5,000.00		\$	6,006.00	\$	6,006.00	\$	5,388.00	\$	5,388.00		\$7,000.00	\$
\$21,000.00	\$	42,000.00		\$	24,518.00	\$	49,036.00	\$	23,890.00	\$	47,780.00		\$31,000.00	\$
\$1,000.00	\$	22,000.00		\$	826.00	\$	18,172.00	\$	1,145.00	\$	25,190.00		\$1,400.00	\$
\$100.00	\$	10,000.00		\$	131.00	\$	13,100.00	\$	110.00	\$	11,000.00		\$75.00	\$
\$9.00	\$	35,100.00		\$	18.00	\$	70,200.00	\$	13.10	\$	51,090.00		\$31.00	\$
\$9.00	\$	35,100.00		\$	18.00	\$	70,200.00	\$	13.10	\$	51,090.00		\$31.00	\$
\$9.00	\$	18,000.00		\$	18.00	\$	36,000.00	\$	13.10	\$	26,200.00		\$31.00	\$
\$9.00	\$	18,000.00		\$	18.00	\$	36,000.00	\$	13.10	\$	26,200.00		\$31.00	\$
\$326.00	\$	163,000.00		\$	76.00	\$	38,000.00	\$	23.75	\$	11,875.00		\$200.00	\$
\$262.00	\$	32,750.00		\$	195.00	\$	24,375.00	\$	171.00	\$	21,375.00		\$600.00	\$
\$296.00	\$	25,160.00		\$	207.00	\$	17,595.00	\$	182.00	\$	15,470.00		\$600.00	\$
\$200.00	\$	22,000.00		\$	157.00	\$	17,270.00	\$	119.00	\$	13,090.00		\$600.00	\$
\$1,350.00	\$	256,500.00		\$	1,310.00	\$	248,900.00	\$	2,151.00	\$	408,690.00		\$2,700.00	\$
\$5,000.00	\$	10,000.00		\$	14,237.00	\$	28,474.00	\$	17,237.00	\$	34,474.00		\$3,000.00	\$
\$500.00	\$	15,000.00		\$	637.00	\$	19,110.00	\$	770.00	\$	23,100.00		\$200.00	\$
\$30,000.00	\$	30,000.00		\$	908.00	\$	908.00	\$	43,100.00		43,100.00		\$1,000.00	\$
\$10,000.00	\$	10,000.00		\$	5,900.00	\$	5,900.00	\$	40,219.00	\$	40,219.00		\$8,300.00	\$
¢50.00	_	10.000.00		Ć	62.62	<u>,</u>	12.000.00	_	420.00	<u>,</u>	24 000 00		¢300.00	_
\$50.00	\$	10,000.00	L	\$	63.00	\$	12,600.00	\$	120.00	\$	24,000.00		\$200.00	\$

\$ 1,800,000.00

\$ 210,000.00

50,000.00

35,000.00

30,000.00

150,000.00 77,000.00

23,000.00

\$ 136,500.00

\$ 136,500.00

\$ 17,500.00

70,000.00

70,000.00

56,250.00

40,375.00

42,900.00

698,250.00

120,000.00

87,000.00

25,000.00

25,000.00

23,000.00

\$300.00

\$500.00

\$35.00

\$35,000.00

\$30,000.00

\$75,000.00

\$3,500.00

\$230.00

\$35.00

\$35.00

\$35.00

\$35.00

\$35.00

\$450.00

\$475.00

\$390.00

\$3,675.00

\$60,000.00

\$2,900.00

\$25,000.00

\$25,000.00

\$115.00

\$

\$

\$

1,590,000.00

57,000.00

294,000.00

112,500.00

7,000.00

62,000.00

30,800.00

7,500.00

120,900.00

120,900.00

62,000.00

62,000.00

100,000.00

75,000.00

51,000.00

66,000.00

513,000.00

6,000.00

6,000.00

1,000.00

8,300.00

40,000.00

2.12		FOR SOLID ROCK EXCAVATION, AS SPECIFIED, COMPLETE		
		IN PLACE (\$40/CY MINIMUM)		
	Α	BASE REMOVAL	100	CY
	В	FOR ADDITIONAL REMOVAL BEYOND 100 CY	100	CY
	С	FOR EXPLORATORY DRILLING	100	LF
2.13		FOR STORM DRAIN REPLACEMENT, AS SPECIFIED,		
2.13		COMPLETE IN PLACE		
	Α	15" DIAMETER AND SMALLER DRIVEWAY CULVERTS	40	LF
	В	18" DIAMETER AND SMALLER	20	LF
	С	24" DIAMETER AND LARGER	20	LF
		FOR CLEARING RIGHT OF WAY AND GRUBBING		
2.14		UNDERBRUSH, AND TREE REMOVAL, AS SPECIFIED		
	Δ	CLEARING	3,100	SY
		FOR CONSTRUCTING AND MAINTAINING VARIOUS	3,100	31
2.15				
2.15		EROSION CONTROL DEVICES, TEMPORARY TREE		
		PROTECTION, AS SPECIFIED		
	_	TEMPORARY SILT FENCE	8,000	LF
	В		40	EA
	С	TEMPORARY CONSTRUCTION ENTRANCES	4	EA
2.16		FOR FERTILIZING, SEEDING AND MULCHING, AS		
0		SPECIFIED		
	Α	FERTILIZING, SEEDING AND MULCHING	24,200	SY
2.17		SEEDING AS SPECIFIED (WETLANDS)		
	Α	PERMANENT SEEDING	500	SY
	В	TEMPORARY SEEDING	500	SY
	С	PLANTINGS	500	SY
		FOR CUTTING AND REPLACING EXISTING ASPHALT,		
2.18		CONCRETE CURB AND GUTTER		
	-	ASPHALT CUTTING AND REPLACEMENT, FULL SECTION		
	Α	· · · · · · · · · · · · · · · · · · ·	600	SY
	۱,	WITHIN TRENCH HORIZONTAL LIMITS	150	1.5
2.40	В		150	LF
2.19		PAVEMENT MARKING LINES AND SYMBOLS		
	Α	PAVEMENT MARKING	200	LF
2.20	_	CONCRETE FLATWORK		
	Α	4-INCH THICK SIDEWALK	50	SY
2.21		TRAFFIC CONTROL		
	Α	TRAFFIC CONTROL DEVICES	1	LS
		FOR FURNISHING MATERIALS, EQUIPMENT, AND LABOR		
		TO INSTALL NEW RAW WATER SAMPLING PUMP,		
2.22		1 '1		
		CASING, APPURTENANCES, ELECTRICAL, COMPLETE AS		
		SPECIFIED AND SHOWN ON THE PLANS		
		RAW WATER SAMPLING PUMP, CASING, &	_	
	Α	APPURTENANCES	1	EA
		SAMPLE PUMP ELECTRICAL, STARTER, CONDUIT,		
	В	DISCONNECT, MISC.	1	LS
	+	FOR FURNISHING MATERIALS, EQUIPMENT, AND LABOR		
		TO INSTALL NEW SONDE CASING, APPURTENANCES,		
2.23		ELECTRICAL, COMPLETE, AS SPECIFIED AND SHOWN ON	1	LS
	-	THE PLANS		-
2.24		DOUBLE CONTAINMENT PIPE LEAK DETECTION	1	LS
	_	ELECTRICAL		
2.25		INTERNAL TV INSPECTION OF PVC CHEMICAL FEED LINE	7,000	LF
	\bot	CASINGS	,,,,,,,	
2.26		EIRED ODTIC CARLE COMPLETE INCLUDING ELECTRICAL	6,500	LF
		FIBER OPTIC CABLE COMPLETE, INCLUDING ELECTRICAL	0,500	LL

\$50.00	\$	5,000.00	\$	40.00	\$	4,000.00	\$	402.00	\$	40,200.0
\$40.00	\$	4,000.00	\$	40.00	\$	4,000.00	\$	402.00	\$	40,200.0
\$4.00	\$	400.00	\$	2.00	\$	200.00	\$	58.00	\$	5,800.0
·										·
\$137.00	\$	5,480.00	\$	64.00	\$	2,560.00	\$	69.00	\$	2,760.0
\$158.00	\$	3,160.00	\$	86.00	\$	1,720.00	\$	77.00	\$	1,540.0
\$236.00	\$	4,720.00	\$	155.00	\$	3,100.00	\$	95.00	\$	1,900.0
		·				·				·
\$11.80	\$	36,580.00	\$	15.00	\$	46,500.00	\$	7.00	\$	21,700.0
\$4.00	\$	32,000.00	\$	3.00	\$	24,000.00	\$	5.75	\$	46,000.0
\$500.00	\$	20,000.00	\$	172.00	\$	6,880.00	\$	98.00	\$	3,920.0
\$1,600.00	\$	6,400.00	\$	4,043.00	\$	16,172.00	\$	4,650.00	\$	18,600.0
\$1.40	\$	33,880.00	\$	2.00	\$	48,400.00	\$	1.10	\$	26,620.0
	\$	-			\$	-			\$	
\$8.60	\$	4,300.00	\$	6.00	\$	3,000.00	\$	4.60	\$	2,300.0
\$4.00	\$	2,000.00	\$	6.00	\$	3,000.00	\$	2.30	\$	1,150.0
\$35.00	\$	17,500.00	\$	22.00	\$	11,000.00	\$	5.75	\$	2,875.0
\$295.00	\$	177,000.00	\$	158.00	\$	94,800.00	\$	84.00	\$	50,400.0
\$58.00	\$	8,700.00	\$	108.00	\$	16,200.00	\$	96.00	\$	14,400.0
640.50	_	2 400 00	<u> </u>	4.00	ć	200.00	<u> </u>	44.50	ć	2 200 0
\$10.50	\$	2,100.00	\$	4.00	\$	800.00	\$	11.50	\$	2,300.0
\$114.00	\$	5,700.00	\$	119.00	\$	5,950.00	\$	144.00	\$	7,200.0
\$25,000.00	\$	25,000.00	\$	2,700.00	\$	2,700.00	\$	27,565.00	\$	27,565.0
\$13,000.00	\$	13,000.00	\$	19,440.00	\$	19,440.00	\$	45,827.00	\$	45,827.0
	1						_			
\$47,000.00	\$	47,000.00	\$	81,000.00	\$	81,000.00	\$	30,245.00	\$	30,245.0
\$22,501.11	\$	22,501.11	\$	12,960.00	\$	12,960.00	\$	26,074.00	\$	26,074.0
40-0 000 00	\$	250,826.00	\$	104,500.00	\$	104,500.00	\$	35,865.00	\$	35,865.0
\$250,826.00		13 600 00	\$	4.00	\$	28,000.00	\$	5.75	\$	40,250.0
\$1.80	\$	12,600.00	Ť					l.		

200.00	\$100.00	\$	10,000.00	\$225.00	\$	22,500.00
200.00	\$100.00	\$	10,000.00	\$225.00	\$	22,500.00
300.00	\$5.00	\$	500.00	\$15.00	\$	1,500.00
760.00	\$75.00	\$	3,000.00	\$175.00	\$	7,000.00
540.00	\$90.00	\$	1,800.00	\$225.00	\$	4,500.00
00.00	\$115.00	\$	2,300.00	\$265.00	\$	5,300.00
700.00	\$10.00	\$	31,000.00	\$10.00	\$	31,000.00
00.00	\$3.50	\$	28,000.00	\$4.80	\$	38,400.00
920.00	\$100.00	\$	4,000.00	\$500.00	\$	20,000.00
500.00	\$10,000.00	\$	40,000.00	\$2,250.00	\$	9,000.00
520.00	\$2.00	\$	48,400.00	\$1.10	\$	26,620.00
-	47.00	\$	- 2 500 00	62.50	\$	- 4 750 00
300.00	\$7.00	\$	3,500.00	\$3.50	\$	1,750.00
150.00	\$2.00	\$ \$	1,000.00	\$2.20	\$ \$	1,100.00
375.00	\$30.00	<u> </u>	15,000.00	\$65.00	Ş	32,500.00
100.00	\$160.00	\$	96,000.00	\$180.00	\$	108,000.00
100.00	\$180.00	\$	27,000.00	\$80.00	\$	12,000.00
300.00	\$15.00	\$	3,000.00	\$15.00	\$	3,000.00
	·		·			·
200.00	\$200.00	\$	10,000.00	\$80.00	\$	4,000.00
65.00	\$32,500.00	\$	32,500.00	\$10,000.00	\$	10,000.00
327.00	\$35,530.00	\$	35,530.00	\$448,125.00	\$	448,125.00
245.00	\$71,500.00	\$	71,500.00	\$295,000.00	\$	295,000.00
074.00	\$22,275.00	\$	22,275.00	\$25,000.00	\$	25,000.00
365.00	\$42,000.00	\$	42,000.00	\$475,000.00	\$	475,000.00
250.00	\$7.00	\$	49,000.00	\$10.00	\$	70,000.00
500.00	\$45.00	\$	292,500.00	\$45.00	\$	292,500.00

2.27	MANHOLE COLLARS AND BOLLARDS AROUND EXISTING MANHOLES AND NEW DOUBLE CONTAINMENT PIPE PULLPORTS	45	EA	\$3,000.00	\$	135,000.00	\$	3,695.00	\$	166,275.00	Ş	4,033.00	\$ 1	181,485.00	\$9,000.00	\$	405,000.00		\$5,000.00	\$	225,000.00
2.28	FOR FURNISHING MATERIALS, EQUIPMENT, AND LABOR TO INSTALL NEW 2-INCH DIAM. HDPE POTABLE WATER LINE, APPURTENANCES, TAP, METER VAULT, BACKFLOW PREVENTER, ENCLOSURE, ETC. COMPLETE AS SPECIFIED AND SHOWN ON THE PLANS																				
	A 2-INCH HDPE PIPE	1,700	LF	\$32.00	\$	54,400.00	\$	26.00	\$	44,200.00	3	12.60	\$	21,420.00	\$45.00	\$	76,500.00		\$16.50	\$	28,050.00
	B CONNECTION TO 24-INCH WATER MAIN, INCLUDING TAPPING SLEEVE	1	LS	\$2,700.00	\$	2,700.00	\$	19,266.00	\$	19,266.00	Ş	1,521.69	\$	1,521.69	\$30,000.00	\$	30,000.00		\$7,500.00	\$	7,500.00
	C 2-INCH RPPZ BACKFLOW PREVENTER AND HEATED ENCLOSURE	1	LS	\$18,000.00	\$	18,000.00	\$	4,323.00	\$	4,323.00	Ş	5,565.00	\$	5,565.00	\$17,000.00	\$	17,000.00		\$5,000.00	\$	5,000.00
	D TESTING AND DISINFECTION	1	LS	\$2,500.00	\$	2,500.00	\$	8,342.00	\$	8,342.00	\$	5,745.00	\$	5,745.00	\$5,000.00	\$	5,000.00		\$2,500.00	\$	2,500.00
2.29	FOR INSTALLING NEW CHEMICAL FEED LINES																				
	A 1-1/2-INCH HDPE PIPE INSIDE 8-INCH CASING*	2,000	LF	\$7.50	\$	15,000.00	\$	16.00	\$	32,000.00	Ç	17.65	\$	35,300.00	\$31.00	\$	62,000.00		\$225.00	\$	450,000.00
	B 1-1/2-INCH HDPE PIPE INSIDE 12-INCH CASING	4,000	LF	\$7.50	\$	30,000.00	\$	16.00	\$	64,000.00	Ç	17.65	\$	70,600.00	\$31.00	\$	124,000.00		\$160.00	\$	640,000.00
	C 8-INCH PVC PIPE (MH NO 1 TO WTP BUILDING)	110	LF	\$15.50	\$	1,705.00	\$	113.00	\$	12,430.00	Ş	34.00	\$	3,740.00	\$75.00	\$	8,250.00		\$135.00	\$	14,850.00
	D 1-1/2-INCH HDPE PIPE AT INTAKE TOWER AND INSIDE WTP BUILDING	400	LF	\$20.00	\$	8,000.00	\$	54.00	\$	21,600.00	Ş	30.00	\$	12,000.00	\$215.00	\$	86,000.00		\$70.00	\$	28,000.00
2.30	SUBTOTAL ITEMS 1 THROUGH 29			\$	\$	\$ 3,070,446.00			\$ 3,608,343.69			508,343.69	\$ 5,323,855.00			\$ 7,518,845.00					
2.31	MOBILIZATION (LIMITED TO 3% OF TOTAL OF ALL ITEMS 2.1 THROUGH 2.29)	1	LS	\$50,000.00	\$	50,000.00	\$	75,991.00	\$	75,991.00	\$	98,000.00	\$	98,000.00	\$150,000.00	\$	150,000.00		\$200,000.00	\$	200,000.00
Total of All Unit Price Bid Items for Lee S Dukes HDPE = Subtotal Items 1 through 29 + Mobilization			\$	\$	\$ 3,146,437.00			\$ 3,706,343.69			06,343.69	\$ 5,473,855.00			\$ 7,718,845.00						
Total Bio	\$ 9,918,282.36			\$	\$ 11,740,895.00			Ş	\$ 14,484,005.69		84,005.69	\$ 16,545,252.50		6,545,252.50	Ş	\$ 18,76		3,762,480.00			
Contingency Allowance 13% of Total Bid Price = \$					\$ 1,289,376.71			\$ 1,526,316.35			\$ 1,882,920.74			32,920.74	\$ 2,150,882.83		\$ 2,439,122.		2,439,122.40		
Total Bid Price with Contingency = Total Bid Price without contingency + Contingency Allowance				\$	\$ 11,207,659.07			\$ 13,267,211.35			ç	\$	16,36	66,926.43	\$ 18,696,135.33			\$ 21,201,602.4		,201,602.40	
								_				_				_					

^{*}Note: An error was found on item 2.29A due to a discrepancy between the Official Bid Form revised as part of Addendum No. 3 and the revise Electronic Bid Form. The quatiny was reduced to 2,000 per Addendum No. 3.

The Official Bid Form indicated item 2.29A Quantity amount as "2,000" LF.